2. Advanced Cost Accounting

Time ; Three Hours Maximum Marks ; 100
PART-1 (OBJECTIVE) Maximum Marks : 40
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I. (i) Whatis meant by “Joint Product”™? Te-30C ¥ N SIWF £ 7
(i) What do vou understand by “recovered overheads™?
“gud fen e SufeEl ! H AT R TS § 2
(iti) Distinguish between “Interlocking Accounts™ and “Integrated Accounts™.
(iv) Explain the meaning of cost center, T T T N gHEEd |
(v) Whatis differential price? F3ves Tea FI &7
{vi) Write two managerial uses of marginal costing.
T wE faTY ¥ Sy IR SR |
{vit) What1s difference between favourable and unfavourable variances?
FiF HR o faswo 3 = s 87
{viit) State the primary ratio and its formula for interfirm comparison.
HATFH g 1 Wi 0T @ 396 97 JaRd |
(1x) Whal are prevention costs” Give two examples.
FRIYE @ 997§ 7 S SEm afed |
{(x)  What is Non-integral accounting system? _
R T TeE orEiEA vaf s g il
2. (i1 Distinguish between cost estimation and cost ascertainment.
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PART-II (DESCRIPTIVE) v n Marks
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B (i) How will you treat over and under absorption of overhead in cost

ledger?
amgﬂnm@mmﬁﬁmﬁﬁm‘f%:mrw FEITEY & SEe [ d TE
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(iii) Differentiate between “Skimming Pricing” and “Penetration Pricing”.
e vy Prafeo” uE A i H SRR e |

(iv) How is market research helpful in cost reduction?
R Y R T ST i S § TEEE B 87

(v) What do you understand by “Shut down Costs™?

“prrE a1 HEE € 2

Maximum Marks : 60
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Section-A ( @UE-37 )

3. In an oil mill four products emerge from a refining process. The total cost

of input for the quarter ending 31st March, 2015, was Rs. 1,48,000. The
additional information is as under :

oF e Tae 1 O wiEar ¥ SR S I B € 131 5, 2005 @
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Products  Output Additional Sales Selling Price

(Liters) Processing Value at Spilt off
Cost after Split ® point
off point (3) )

A 8,000 43,000 1,72.500 @315

B 4,000 9,000 15,000 @36

C 2,000 - 6,000 @33

D 4.000 1,500 45.000 @750

Prepare a statement of profitability based on :
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F YR T SIS 1 fae $ER e -
(i)  If the products are sold after further processing.

(ii) If the products are sold as the split off point. 10+10
OR ( 371eET)

Distinguish between “spoilage”, “defectives™, “waste™ and “scrap”. How

are they treated in cost accounts? 12+8
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Section-B ( EUS-H)

. Discuss the cost and non-cost factors that are to be taken into consideration

for talking managerial decisions :

(a) o take or buy” (b) “to expand capacity or not”,
() “oE AT HI B (=) ** ey =1 T L srgan R
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OR ( 319ET)
From the deails given below, calculate -
(a)  P/V Rato (b) Sales at break-even point
(c) sales to earn a profit of T 30.000
(d) Sales to give a net income of 10% on sales
(¢} Profit and margin of safety at sales of ¥ 20 lakhs
() Sales units required to earn a profit of 30,000 after income tax if
tax rate is 50%.

Frefafas faamord s =it -

(&) S9-T7 FIm (%) T3 fagma farg

(F) 30,000 =1 v ST #43 & fomy svavas et

(7) fowra W 10% =y a0t ¥ sravass faswa ofw
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(V) -mwﬁasoc&nﬂﬁgqa«m%wno,omaﬁﬁ%@m
o s

Selling Price

Variable works cost

Variable selling cost

Fixed works cost

Fixed selling cost

< 10 per unit

<5.50 per unit

< 1.50 per unit

T 2,70,000

T 1,26,000 34343434444
Section-C ( @U=-9)

- Find out the following material variances -

L I | I

(i) Material cost variance T e fa=

(i) Material price variance Tl ge fomm
(i) Material usages variance s A=

(iv) Material mix variance Tt fager fam
(v} Material yield variance Tl e Taam
Marerial Standard Actual
Qty. Rate  Amount Qty. Rate  Amount
(kg) ) (9] (kg) €9] ®)
A 120 5 600 112 5 560
B 80 10 800 88 10 880
200 1,400. 200 1,440
Loss30% 60 (25%) = 50
140 150
. 44444 +444
rtuonline.com OR ( 3t

Discuss the importance of quality control and simplification in cost
reduction programme.,
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